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Group-A
(Multiple Choice Type Question) 1x 70=70
1. (Answer any Seventy )
(i) Thefollowing is (are) the indirect labour cost(s)
a) Wages paid to storekeeper b) Salary of works manager
c) Wages paid to gatekeeper d) All of these

(i1) Which of the following do not give the returns during the same period
during which they are paid for

a) Intangible assets b) Fixed assets
c) Both (A) and (B) d) None of these

(iii) Following is (are) called the element(s) of Cost

a) Material b) Labor
c) Expenses d) All of these
(iv) Dividend received is income.
a) Operating Income b) Non-operating Income
c) Both (a) and (b) d) None of them

(v) The following method(s) is (are) used to measure labour turnover
a) Separation method b) Replacement method
c¢) Flux method d) All of these



(vi) Contribution represents pool of resources available for meeting all costs
other than

a) Fixed Costs b) Variable Costs
c) Labor Costs d) Material Costs

(vii) If cost of direct material usein goods sold is 75000 and total revenues are
29000 then throughput contribution would be

a) 75000 b) 214000
c) 24000 d) 29000

(viii) If total cost of 100 unitsis Rs 5000 and those of 101 unitsis Rs 5030 then
increase of Rs30intotal cost is

a) Marginal Cost b) Prime Cost
c) All Variable Overhead d) None of these

(ix) Marginal costing is also known as
a) Direct costing b) Variable costing

c) Direct costing and Variable costing d) None of these

(xX) Under High and Low Point method, the output at two different levelsis

compared with the amount of incurred at these two points.
a) Total fixed costs b) Total costs
c) Total Variable Costs d) None of these

(xi) In Analytical method of calculating marginal costing, it is determined on
the basis of

a) Past Records b) Theoretical Data
c) Projected Data d) None of these

(xii) When contribution is positive but equal to fixed cost,
a) Thereisloss equal to fixed costs b) There isloss more than fixed costs



c) Therewill belosslessthan fixed costs  d) There will be neither profit not loss

(xiii) Which of the following statements are true about labour idle time?

a) Labour idletime varianceisnot caused b) Labour idle time variance is measured as
by non-availability of raw material : Abnormal idle hours* Actual hourly rate

c) Labour idle time variance is always d) None of these
unfavorable or adverse

(xiv) Volume variance arises when

a) Thereisrisein overhead rate per hour  b) Thereisdeclinein overhead rate per
hour

c) Thereisdecrease or increasein actual  d) None of these
output compared to the budgeted output

(xv) The type of standard that is best suited for cost control objectiveis
a) Normal standard b) Basic standard
c) Expected standard d) Ideal standard

(xvi) If the actual output is more than the budgeted output, volume variance is
a) Favorable b) Non-favorable
c) No impact d) None of these

(xvii) Determine B.E.P in units and amount if Units produced if Rs 10,000,
Fixed cost is Rs 40,000, Selling priceis Rs 50 per unit and Variable cost us Rs
30 per unit.

a) Rs 40 per unit, Rs 2,00,000 b) Rs 50 per unit, Rs 10,00,000
¢) Rs 20 per unit, Rs 1,00,000 d) None of these

(xviii) What will be the B.E.P if Variable cost ratio is 70% and Fixed cost isRs
36,000

a) Rs 3,20,000 b) Rs 2,20,000
c) Rs 1,20,000 d) None of these



(xix) Margin of safety isthat saleswhich is above
a) CVP Point b) Cost Point
c) Profit Point d) BE Point

(xx) Determine salesin rupees for desired profit if fixed cost is Rs 10,000,
Variable cost is Rs 30,000, Salesis Rs 50,000 and desired profit is RS 5,000.

a) Rs 73,500 b) Rs 75,000
c) Rs 5,000 d) Rs 37,500

(xxi) Calculate salesin rupees for desired profit if fixed cost is Rs 10,000,
selling priceis Rs 20 per unit, Variable cost is Rs 15 per unit and desired profit
iISRs 1 per unit.

a) Rs 20,000 b) Rs 50,000
¢) Rs 70,000 d) Rs 10,000

(xxii) Determine salesin units for desired profit if Fixed cost is Rs 15,000,
desired profit is Rs 5,000 Selling price per unit is Rs 20 and Variable cost per
unit is Rs 16.

a) 5,000 units b) Rs 5,000
c) Rs 10,000 d) 10,000 units

(xxiii) What will be salesin unitsif fixed cost is Rs 50,000 Contribution per
unit is Rs 60 and desired profit per unitisRs 10

a) 6,000 units b) Rs 1,000
c) 1,000 units d) Rs 6,000

(xxiv) Given fixed costsis Rs 1,00,000 selling price per unit is Rs 10 and
variable cost per unit isRs 6. If fixed cost increase by 10% , B.E.P will

a) Decrease by 2,500 units b) No change
c) Increase by 2,500 units d) None of these

(xxv) Profit at any level of salesin unitsis measured as



a) Sales (units) * Cost per unit - Fixed cost b) Sales (units) * Cost per unit + Fixed cost
c) Sales (units) * Cost per unit d) None of these

(xxvi) Estimate amount of profit if Salesis 10,000 units Fixed cost isRs
50,000, Variable cost per unit is Rs 12 and selling price per unit is Rs 20.

a) Rs 12,000 b) Rs 5,000
c) Rs 30,000 d) None of these

(xxvii) Plant utilization budget and Manufacturing overhead budgets are types
of

a) Production budget b) Sales budget
¢) Cost budget d) None of these

(xxviii) A budgeting process which demands each manager to justify his entire
budget in detail from beginning is

a) Functional budget b) Master budget

C) Zero base budgeting d) None of these
(xxix) Is designed after assessment of the volume of output to be
produced during budget period.

a) Cost budget b) Sales budget

c¢) Production budget d) None of these
(Xxx) contains the picture of total plans during the budget period
and it comprises information relating to sales, profit, cost, production etc.

a) Master budget b) Functional budget

c) Cost budget d) None of these
(xxxi) Is stated as a budget which is made to change as per the
levels of activity attained.

a) Fixed budget b) Flexible budget

¢) Fixed budget & Flexible budget d) None of these



(xxxii) An estimated price, which is expected to be paid by customers for
particular market offering is classified as

a) Target price b) Target cost
c¢) Outsource price d) Off shore price

(xxxiii) Anincome, which a company aimsto earn by selling each unit of
market offering is classified as

a) Target operating income per unit b) Target cost per unit
c) Total current full cost d) Tota cost per unit

(xxxiv) Practice by seller, about offering same product at different prices, to
different customersis known as

a) Price incurrence b) Price discrimination
c) Price targeting d) Price engineering

(xxxv) Total cost incur by customer to use, acquire, maintain and dispose
service or product is classified as

a) Budgeted life cycle b) Targeted life cycle
c) Customer life cycle d) Operating life cycle

(xxxvi) A technique, which accumulates and tracks costs of business function
in value chain attributed to each market, offering from R& D to final customer
support, iscalled

a) Product life cycle b) Life cycle budgeting
c) Life cycle costing d) Target costing

(xxxvii) Aninsensitivity of demand in relevance to change in price will be
caled

a) Demand elasticity b) Price elasticity
c) Priceinelasticity d) Demand inelasticity



(xxxviii) When standard costs are used, the amount of detailed record keeping
will normally

a) Reduce b) Increase
c) Stay the same d) None of these

(xxxix) If labour time is based on the maximum efficiency, the unit cost will be
a) Higher b) Lower
c) Equal d) None of these

(xI) The labour engaged in the making of a product is known as

a) Direct labour b) Indirect labour
c) Temporary labour d) None of these
(xIi) requires constant revision according to the real circumstances.
a) Attainable Standard b) Perfection Standard
c) ldeal Standard d) None of these
(xlit) In budgetary control Is used whereas in standard costing
IS used.
a) Unit concept, Total concept b) Total concept, Unit Concept
c) Marginal concept, Gross concept d) Gross concept, Marginal concept

(xliit) Standard costs are better than historical costs because

a) Determination of standard costsis b) They facilitate delegation of
economical interms of money aswell as  responsibility

time

c) They help in timely action against d) All of these

extravagances

(xliv) Standard costs are useful in
a) Establishing budgets b) Supporting cost reduction measures



c) Simplifying cost procedures and d) All of these
expediting cost reports

(xIv) The term contribution refersto

a) The difference between selling price and b) The difference between selling price and
fixed cost variable cost

c) Profit d) All of these

(xIvi) The accountants concept of marginal costing differs from the Economists
concept of marginal cost in the matter of exclusion of

a) Variable cost b) Semi variable cost
c) Fixed cost d) All of these

(xIvii) The other name of marginal costing is
a) Direct costing b) Variable costing
c) Incremental costing d) All of these

(xIviii) Sales 7100000 Variable cost 260000 net profit ratio is 10% on sales,
find out fixed cost

a) 240,000 b) 260,000
c) 750,000 d) none of these

(xlix) The P/V ratio can be increased by
a) Reducing the variable cost b) Increasing the selling price
c) Both d) none of these

(1) BE Chart presents only cost volume profits. It ignores other considerations
such as

a) Capitad b) Marketing aspects
c) Government Policies d) All of these



(1) Which of the following is excess of sales over the BE sales
a) Actual sales b) Total sales
c) MOS d) Net sales

(lit) The formulafor calculating MOS is
a) PV Ratio/ Profit b) Profit/ PV Ratio
c) Profit / Sales d) Contribution/ FC

(liit) Marginal costing is the most useful technique for the...
a) Shareholders b) Management
c) Auditors d) Creditors

(liv) The term period cost refersto...
a) Variable cost b) Fixed cost marginal cost

c) Prime cost d) None

(Iv) The term contribution margin refersto...

a) Marginal income b) Marginal cost

c) Gross profit d) Net income
(Ivi) refers to a situation where the costs of operating two alternative
plants are equal.

a) Simple BEP b) Cost BEP

c¢) Contribution BEP d) None
(Ivii) If afirmisdealing in several products the Is calculated

a) Composite BEP b) BEP

C) Breakeven sales d) Cash BEP

(Iviii) The formulafor Margin of Safety is one of the following...
a) PV ratio/profit b) Profit / Plv ratio



c) Profit/sales d) Contribution/fixed cost

(lix) Breakeven chart presents only cost volume profits. It ignores other
considerations such as...

a) Capital b) Marketing aspects
¢) Government policy d) All of these

(Ix) A cost that is easily traceable to a cost object is known as:
a) indirect cost b) variable cost
c) direct cost d) fixed cost

(Ixi) A cost that changesin total dollar amount with the change in the level of
activity isknown as:

a) fixed cost b) mixed cost
C) conversion cost d) variable cost

(Ixii) According to cost formulaY = Rs.20,000 + Rs.4X, total cost at an activity
level of 15,000 units would be:

a) Rs.20,000 b) Rs.60,000
c) Rs.80,000 d) Rs.35,000

(Ixiit) Which of the following costsis not a period cost?
a) Advertising cost b) Sales commission
C) Interest d) Direct labor

(Ixiv) Prime cost = ?
a) Manufacturing overhead cost + Direct  b) Direct materials cost + Direct labor cost
labor cost

c) Direct materials cost + Manufacturing  d) Direct materials cost + Direct labor cost
overhead cost + Manufacturing overhead cost



(Ixv) Conversion cost = ?

a) Direct labor cost + Manufacturing b) Direct materials cost + Manufacturing
overhead cost overhead cost
c) Direct materials cost + Admin. cost d) Direct materials cost + Marketing cost

(Ixvi) The cost of aternative ‘A’ is Rs.25,000 and the cost of alternative ‘B’ is
Rs.20,000. In managerial accounting, the difference of Rs.5,000 in costs of two
aternatives would be termed as:

a) additional cost b) extra cost
c) differential cost d) essential cost

(Ixvii) Which of the following costsis treated as indirect |abor?
a) ldletime b) Overtime premium
c) Fringe benefits d) All of the above

(Ixviii) The benefit forgone when one alternative is selected rather than another
Is known as:

a) sunk cost b) opportunity cost
c) differential cost d) decision cost

(Ixix) Which of the following terms s correct for a cost that has already been
incurred and cannot be changed by any decision?

a) Past cost b) Previous cost
C) Lost cost d) Sunk cost

(Ixx) A total of all the direct costsis known as
a) Cost of production b) Cost of sales
c) Prime cost d) Works cost
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